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1 BRASHEREMaVHILEILY 4,516,200/

1 RSV MR R 4,516,200/

1 | RREE 4,516,200M

1 |F—EEstst BEREBEEHR 4,516,200M

1 |#eshepmoL LY BREXE 4,516,200

1 | KRBREHRE 4,516,200M

1 | SR 4,516,200M
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15 |BRELTREHHAE1 6,021,600

15 |[BRXEHE K 6,021,600/
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Itz x & & (110&5&@0@%&%) (115‘%}%@%@) (1%&?05%)%%@) (11?6?‘%)%%%%%3%)
(¢éi§ BReMBREFI LAY BEREXE 4,441,200
L)
1 |t eHEREHILFILEILY 4,441,200M
1 |FRsas S L s R R 4,441,200M
1 | KEEavHyLav k&t 4,441,200M
1 | SRR 4,441,200M
1 |F—EEstst BEREBEEHR 4,441,200M
1 |t ERE 4,441,200M
1 |[PRTIO/BEA 4,441,200/
9 |MXHALLIUYILEVE 5,180,000/
9 [AHAXKIVHILEUE 5,180,000
11 |[aREavH Lo vsReit MARBER 5,800,000
12 |MXSuHAREHFILH LIS 5,920,000
12 |SMEfaU Y LEs M MER S 5,920,000
14 |BRELTREHHKE1 5,921,600
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16 |BEIVC=T7YU I HARMH 6,700,000/
17 %S KE 7,000,000/
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L)
1 RSV MR R 3,432,000
1 | KfEavHLav k&t 3,432,000
1 | RREE 3,432,000
1 |F—EEstst BEREBEEHR 3,432,000
1 |#steuEkosvssy ERBEER 3,432,000
1 |#eshepmas LY BREXE 3,432,000
1 AREALF LA UBREE FARELHR 3,432,000
1 A RAEAREMaVYILELY 3,432,000M
1 | SR 3,432,000
1 |&X AL LAV 4,000,000
1 (R AKIAVHILEVE 4,000,000
13 |MASHEEREMaLSILELY 4,004,000
14 |MXSHHFAREHRILH LIS 4,570,000
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19 |[HEXSHKE 5,500,000/
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110#%%?@?@% 6,362,000/ 1%@?)%?&5%)% 3.817,200H
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1 BRASHEREMaVHILEILY 3,817,200M
1 |[BRBEXAREE A4 3,817,200
1 RSV MR R 3,817,200M
1 | KEEavHLav k&t 3,817,200
1 | RREE 3,817,200
1 |F—mEEstst BREBEBEHR 3,817,200
1 |#steuEkasvsy ERBEER 3,817,200
1 |#essepmos LY BREXE 3,817,200H
1 AREALH AL VBREE FARELHR 3,817,200
1 | KRBREHRE 3,817,200
1 A RAEAREMIV Y ILELY 3,817,200
1 |[PRTIO/BEA 3,817,200/
14 |BAXtHLLaHILEUE 4,460,000
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21 | KE 6,000,000




A L OB OB %
FX4H AT T OAINRERVT ORI IV ERIERERES
5 Rl AR —M B 4L &£ A H SFI3E6H4H

¥ E ffit& 9,658,000 | L#I2H9%E 8,998,000

LR D ZHHFLREED
11050210000 (% 8,780,000M | 4 555 7 10000 s 8,180,000
B 45z r = AFLAE#% B AL B R AFLmE RIEZE(REZE)

(110> D 100D i) | (11052 D 100D 1) | (11053 D 100D1M4E) [(11053 D 100D %)

1 EEmEHASt BREXE 8,180,000

2 |HEmESKASst BREXE 9,600,000

3 |MXeut/iRa EREXE 9,980,000




